
Green: Solving Inequalities 
 
 
Name___________________________________ 

1. (a) Which of the following is a solution to the inequality:           
 
 
 
 

(1) 4              (2)  0             (3)  -3             (4)   -5 
 
 
 
 
 
 

(b) Which of the following is NOT a solution to the inequality:           

 
 
 

(1)   21            (2)  20             (3)  -21             (4)   24 
 
 
 
 
 

 
 
Name___________________________________ 

2. (a) Which of the following is NOT a solution to the inequality:           
 
 
 
 

(1) -4              (2)  4             (3)  5             (4)   6 
 
 
 
 
 
 

(b) Which of the following is a solution to the inequality:           

 
 
 

(2)    10           (2)  -10             (3)  -15             (4)   15 
 
 
 
 
 



 
 
Name___________________________________ 

3. (a) Which of the following is a solution to the inequality:           
 
 
 
 

(1)   -1              (2)  1             (3)  -2             (4)   2 
 
 
 
 
 
 

(b) Which of the following is NOT a solution to the inequality:           

 
 
 

(1)   -6            (2)  20             (3)  35             (4)   -24 
 
 
 
 
 
 

 
 
Name___________________________________ 

4. (a) Which of the following is NOT a solution to the inequality:           
 
 
 
 

(2) 3              (2)  -3             (3)  4             (4)   25 
 
 
 
 
 
 

(b) Which of the following is NOT a solution to the inequality:           

 
 
 

(2)   38            (2)  39             (3)  -40             (4)   41 
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